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What difficulties are
manufacturers facing with
R&D
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Key advantages
of the UK
Scheme

* |t does not matter:

« If the work was not successful, all that
matters is that your team attempted to
solve problems through engineering;

 If a competitor has developed something
similar — that is their trade secret;

* You can claim for emergent work
— i.e. problems that were not foreseen

* You can claim for problem solving — that
is not thought of as R&D conventionally;
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Eligibility Criteria:
Basic Conditions to
be Aware of Before
Claiming

@



R&D Tax Relief Eligibility Criteria

Basic conditions that were checked before claiming

Company within the charge to UK
Corporation Tax and Claim is made

within 24 months of latest Year End
No grants or &
subsidies cannot be !1 .
Company is currently a

received in respect of _ .
the expenditure for - Going Concern, even if
SME Scheme % making claims
retrospectively
Company + Linked
Enterprises Q

Expenditure is
revenue in nature for

collectively fall under
SME thresholds

tax purposes and

deductible in the [all] RDEC

period — excluded _
capital expenditure Scheme
11p per £1

—_—

- R&D was not |é| ol R&D Activities relate to
Q contracted to the Company = Ve the trade of the Business
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Complex
Areas the
Need Care

Subcontracted R&D

Lead Competent Professionals \/

Technical and Financial risk borne solely by
Company

Degree in autonomy in the works

N < I

Ownership of the IP

Subsidised R&D

There is no link between the payment received \/
and the qualifying expenditure

R&D was emergent and was not foreseen by ‘/
the contract




“Project was

too commercial”

* The project was

 ‘commercial’ and
therefore can’t be
claimed

“We don’t track R&D"”

+ We are paid for our
work so we can’t claim

“This is
everyday work”
* Problem Solving

is part of our
everyday work

* Other companies in our
industry have created
the same product, our

5 \ product is nothing new

so we can’t claim

f “Already claimed for .
R&D"

Mwe
subcontracted
the work”

+ We paid other
people to help us
with the work.

“We don't hold

the IP”

+ We can't claim because
we don't hold
intellectual property
“Project failed”

* Other companies in our

industry have created
the same product, our
product is nothing new

so we can’t claim “This is a Tax

Loophole”

* We are
uncomfortable with
reducing
Corporation Tax
and Cash Credits




Applying the Legislation:

R&D for Tax Purposes —

HMRC is Re-lterating the Importance of
Applying this Correctly
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How R&D activities are
defined -

It is not enough anymore just to show HMRC that
the project was complex or bespoke, need to show
that IP goes beyond the Baseline.

Advance

Through resolution of uncertainty,
any one of the advances are
achieved in the overall field of
S&T:

New process, material, device,
product or service;

Appreciable improvement

Extend overall knowledge or
capability, including new knowledge
or cost improvements

Duplicate existing effects.

BEIS

Guidelines

R&D

R&D takes place when a
project seeks to achieve an
advance in science or
technology through the
resolution of scientific or
technological uncertainty.

Uncertainty

Where a Competent Professional
is not able to Readily Deduce if a
solution is:

Scientifically possible;
Technologically feasible;
Achievable in practice;

Achievable given Prohibitive
Complexity arising from Systems,
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R&D in the Development Lifecycle

» Investigation and development of new
technologies, materials and concepts

+ Safety and environmental considerations

* Management Systems /
stock management system
development and integration

*  Ensuring designvisionis
feasible and economical

Concept . .
«  Fault and manufacturing g;?/ceir;tlr?]r;rslg/stem
defect rectification P
+ Indife servicing «  Efficiency improvements
developments Sal d
ales an .
in-service R
Project
Lifecyle
e Production efficiency, reliability and *  Development or adaptation of
throughput improvements manufacturing processes and

technology
. :\:’?etgrr;:::d component change Production PI'OI;[IeC-tiOI‘I Process-line automation and
consolidation
*  Retooling
* Tolerance and quality improvements
*  Production trials and scale-up
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Scheme Benefits and
Upcoming Changes




Eligible Cost Categories

Sub-contractor
(SME only)

Consumables

Subcontracting
activities that
are part of the

R&D

Material
scrapped,
prototypes

Employees and
Directors

Salaries, bonus,

secondary class

1, NIC's, pension
contributions

Usually paid
through invoices

Utilities

EPW

Contract staff
provided by third
party staff
provider

Not an employee
or Director

Subject to
supervision,
direction and
control

Software

Software,
Licenses

(Q
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Scheme Benefits — SME (profit making)

£1M eligible R&D spend example

130% extra deduction from accounting year profit.

Current Corporation Tax Rate = 19%

Example calculation:
£100,000 (eligible spend)

x130% (enhancement rate) - £130,000 Benefit:

Taxible Profit before R&D = £500,000 = 24.7p back from HMRC
Tax Liability before R&D = £500,000 X19% = £95,000 for every £1 spend.

Taxible Profit LESSR&D = £500,000- £130,000
Revised Taxible Profit = £370,000
Revised Tax Liability = £370,000 X19%

Taxible Savings =£95,000 - 70,300




Scheme Benefits — SME (loss making) @

£1M eligible R&D spend example

3 options:

1. Surrender enhanced losses
..for a tax credit (cash), currently at 14.5%.

Example calculation:
£100,000 (eligible spend)

x130% (enhancement rate)
= £130,000

Benefit:

£100,000 + £130,000 (enhancement) B
= £230,000 (enhanced expenditure) - 3f3‘5p baclglrom H(I:\lﬂ RC
or every £1 spend.

£230,000 x 14.5% (surrender rate)
= £33,500 net benefit

2. Carry back losses
If profit making in previous period and paid tax.

3. Carry forward losses
To offset against future financial year profits.




Scheme Benefits — RDEC

£1M eligible R&D spend example

RDEC
scheme

Enhancement rates:

« 13% (1 April 2020 onwards)

Example calculation:

£1,000,000 (eligible spend)

x13% ( @April 2020 enhancement rate)
= £130,000

-19% (Corporation Tax rate)
= £105,300 net benefit

Benefit is the same regardless of profit/loss
tax position.

»  Reducing tax liabilities if profit making.
»  Payable as cash benefit if loss making.

Benefit:

= 10.53p back from HMRC
for every £1 spend.
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Recent & Upcoming
Changes

«  SME tax credit limited to £20,000 + 3x total PAYE NIC
contributions. This is active for accounting periods starting
after 1 April 2021.

. Legislation for software category expanded to include cloud
computing and data costs.

. International subcontracting costs to be restricted.

. Ongoing consultation on the SME scheme by HMRC.
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